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5.4 Numbers in Expanded Form

Expanded form of a number can be obtained by breaking it and using the
place value of digits in the number.

example 1 : Write the expanded Example 2 : Write the expanded
" form of number 48, form of number 90.
4 8 9 0
Li—80nes(8x1=8) ‘ |—00nes(0>-<1=0)
4 tens (4 x 10 = 40) 9 tens (9 x 10 = 90)
Expanded form of number Expanded form of number
48 = 40 + 8. 90=80+0.,,,
s Exercise
- Write the numbers given below in expanded form :
1. 25 =20+5 13.59 = 50+9
2. 32 = 3G+ 14.97 = Qot 7
‘3. 39 = _?I_L"‘Q 15. 16 = o rf
1. 66 = -2oEL 16.80 - S8 +=9
5. 79 = —+2=8 17.74 = 4+4
6. 82 = Lok 18. 24 = 2=0 4 4
7,08 = et S 19,78 = ===
8. 56 = —sath , 20.86 = L o4 b
9. 67 = Lo+ 21.90 = 1 6 =0
10.199 = L 8+» 9 2.72 = 1.0 +2
1.73 = L83 23.3 - =0+ 0
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5.5 Numbers in Compact F::e
wrli

The compact form of a number is W
their place value.

Example 1 : Write 80 + 7 in

compact form.
80 + 7

{ !— 7 ones
8 tens

Compact form of 80 + 7 = 87

g the digits 0-9 8CCOrding

Example 2: Write 40 + 0

compact form.

40 + O
[/i— 0 ones
4 tens

compact form of 40 4 g <4

Write in compact form

120+6_,"9:.; 9. 10 + 7 =
2.30 + 6 = fss 10.60 + 2 =
3.60+8=[68 | 11.80 +8=
4.30+8=[38 | 1250 +2=
520+3_'§_§'" 13.70 + 6 = |

6. 40 + 7 = Li-? 14.60 + 4 =
7. 50+0=/>§:Qi 15.00 + 8 =
009 | 16.00 + 1 =

8. 00 + 2 = f“o~qm9;§

R : 2 = {58
E{‘-”‘ﬁz"—_)‘ 17 20 + g’l
2. | | 18-60 +6 = 66
[9;& ' | 19.50 + 7 =ik
r75f5_, 20.60 + 9 = 5q
Ty 21.40 + 4 = »fL{;

ey | 22.30 + 3= _3_3;
(068 | 23.20+7=%1
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